No.
20234 4H 1H

fEi e E A o RS AT
BT —TH 7% 2 35

VT 4 —3I 7 Aoy s — NS EHE=E

FlE ety i JELE

T # 4 W

At £ Hh

M T E K

A2 0 i F 4 3(? ﬂﬁlflﬁ H@Eg 100 « 9H21H~12H100 (EEVERLA OJRFIAI6E IR « 25t DS O BRI AR Rtad)

2/ )) = DFIAZ & BT

A & D X at ES s
a7 U—FoD N 2777 XAFAT07 To— | HUE M O ERSTE|] vV o fEE
BN 5| I K D5 < cm m Iz T 730
EL L] 27 12 20 BB
iEE:E v X v b © F M IOV AR L FE R HEF M o K KTk FEOG MR I RR R
% ; R T B Y Y h RS BB
BRI YIS L DKy il AR L R BBy ) ) - O WA A RS & — ke/md
e K o K A fUAMEcER (= v 7 ) — o g —C
1€ (& TR FARA 0 RECEE B OV | Bl AR B OVAL & 3R AN Tkl | K A > b H o> BARED EIR 55 %
TEM v B & A 0.30 ke/r LI ¥ | BEfi7 Kk B 0> F A% 5 0 1 — ke/n
T MEOVEE BE A RFET D M 28 H B0 HEED TR AEED L} — keg/nt
7 2 = 4.5 % | REMEE DA T v TR E — cm
& H iz £t
Ay MNEEEL KRS Y~ [ g/ | 3.04 [NasOeq % | —
BRI O e — " — a5 HE 3 —  |Naz20eq —
E " o TR L AR PR DR & & PHRERYIL| BE o/end | TR D
1 A B B N A (I - 777 LT R E M3l
D] ferd KOy BRI R CHIRID) AFELZ L SR—EBLLTF 2.85 — 2.65| 7.0%£2.0
B @\ kb BT T (D) AFELZ L AS—EBLLTF 2.85 — |2.62] 3.0%2.0
$113)BFS 5 JFEAF— )L (@hFAT) fEs) | — — 5LLF 2.55 — 12.76] 3.0%+2.0
D - — — — — - - — —
O 412010 & L TR HT2010 AFEJLZ L S—1E20~10 6.95 — 12.66] 0.5+0.5
F®#ea1505 & L TR T 1505 AFEJLZ L R—1E15~5 6. 35 — 12.66| 0.5+0.5
@ — — — — — — — — —
ERAID A=K e=} 151 AEJHOK 7 (FEYENY 1 ) Nas0e 0.6
& Fn 7 @] B4, — T % - ; K —
EAAIG — . o —
WM OE R | — WKDOKS [ LAGEAK - LK BEEy MR | — %
BB OB HE [ T M — OB M — FELAT v OKOERD 4 -
e A * ke /ni
. " fn B b B M . T iz % n vl
A B
ol o | XoTele 0ol 0leo 0 © 0
331 — — 175 | 440 | 304 | 138 — 452 | 450 — 1.66 — —
Kt AL bk 53 % K fE A B — %M B M % 49.5 %
s 2 TUORERGHE, WRAOKRECOVTE WOALLART 52155, | HAARA WA OD:@:@  50.0:35.0:15.0
B9 EEEERS L LTRIORT O, BRAOBEROALE (AHES) [HEHMO:O 50. 0:50. 0

(RHIELE) 6ATIA~9A20R « BEYERL AT LABBUKAL+20%, (AHIELE) 12H1TH~3A 100 : (RUERLE 1T LAEBUKAI—20%




i A& 5t H £
fid = D B4 &t % 4
a7 JU—hFD N 2707 X XATv7 Tn= | FE R O e KT IE YAV N FEEE
MO | BEICK S F - cm mm WX DELE
LG 27 12 20 BB
%‘E-jzﬁ v X v b O & OHE MO L2 FEER HE M o & KT MOV Re R
Ll . L =i TAAY U BRI BB
%E H i D gt ¥H '{iﬂqjﬁ—*’ﬁﬁck—uaﬁt o st % o FoE _
BRSSP EB0Gy| AR i i kay) )= o B A R — ke/ni
e K o K fUBMEMCE#® = v 7 ) — o R g —C
1E AL TR *4@&162&&0“@%% M B R OBl A FAICGodl K A 2 R o BEEED LR 55 %
FE kW A& B R 0.30 ke/uf LA F ﬂ-;mkimamﬁmuﬁ — ke/ni
- @U%ﬁf%f%um“éﬁﬁ“ 28 H|Bftv &0 HEEO TIRUTEERD £} —ke/md
7e = & 4.5 %| Bt DA T T HE K E: —cm
(1) EdfgrE(v) YTHEOFEEICEY v = 10 %
(2)BAHRE (m)
o SL _ 2
m2= . 5 0.V = 33.8 N/m
100
X->7T m = 33.8 N/mft
(3)/kEAL FEE(W/C) m = -15.6 + 26.3 X C/W
W/C = 26.3 = (33.8 + 15.6) X 100 = 53 % = [55%<HE<1 )]
“W/C = %
(4) BAIKE (W) Y TIEOFERRIC otD W = 175 ke /mi
(5)HEfrEAY FE(C) C =W +~ (W/C) X 100 = 175 = 53 X 100 = 331 keg/m
Cv= C = ZJE =331 + 3.04 = 109 #¢/m
(6)Z85 & (A) A = 4.5 % X 1000 = 45 2/
(7)RACHEHMT(G) S IHOEEICLY HESAH — 0.584 o/ Kt = 580 %
Gv = 0.584 X 1000 X 58.0 = 100 = 339 £ /nt
Glv = Gv X 50.0 % = 170 ¢ /nd Gl= GIvXFEWEE = 170 X 2.66 = 452  kg/mt
G2v = Gv X 50.0 % = 169 ¢/ G2= G XFEWIERE = 169 X 2.66 = 450 kg/ni
(8) A E#ME(S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 668 = 332 £ /md
Slv = Sv X 50.0 % = 166 # /ot S1= SIvXEHEFE = 166 X 2.65 = 440 kg/nt
S2y = Sv X 35.0 % = 116  #/m S2= SoyXEWEE = 116 X 2.62 = 304 kg/ni
S3y = Sv X 15.0 % = 50 2/ S3= S3IyXEHIEF = 50 X 2.76 = 138 kg/ni
() MEMFE(s /a) s/a = Sv - (Gv+Sv) X 100 = 49.5 %
(10)$u{rﬁD§Ui(Ad) Ad = C X IN=E = 331 X 0.5000 % = 1.66 kg/m
i A& * ke /mi
. NSV ) | H iz L B 1z IR fn vl
s Te | X0 Tole o @lel@l 0l ©® 0
331 — — 175 | 440 | 304 | 138 — 452 | 450 — 1.66 — —
L o/ | em o = o/ | BEMEAL HEHMD:@:@ 50.0:35.0:15.0
KA M 53 % |/ B M #E 49.5 % (FIERD) HEMD: B 50. 0:50. 0

GRS




